
13mm x 1

4PS186 x

2SA069 x

2SA055 x

2SA056 x

4SA070 x

FB001 (M6x55) x 2

FS103 (M6x25) x 4FS062 (M8x25) x 2

FW001 (M6) x 4

2FW002 (M8) x FW011 (M8) x 2

1FT01 x

1FT02 x

TP030 (M6) x 2

=3Kg

ITEM NO. PART NUMBER DESCRIPTION Legs ins/Legs/QTY.

1 SA055 Aluminium Bar Leg Assembly - Right 
Hand 2

2 SA056 Aluminum Bar Leg Assembly - Left 
Hand 2

3 SA070 Load Stop - Aluminium Bars 4
4 PA192 Leg Housing Box 2
5 LA038 Printed Label, Kit Box 1
6 LA110 KammBar Product Label 1

7 C04 Two Lock Barrels with Key 
KammBar 2

ITEM NO. PART NUMBER DESCRIPTION MS394/QTY.
1 PA26 8" x 10" Polythene Bag, 250G 1

2 FS062 M8 x 25mm st/st A2 Hex Head 
Screw 2

3 FW002 M8 st/st A2 Washer (Form C) 2

4 FS103 M6 x 25 st st A2 Socket Head Cap 
Screw 4

5 SA069 Vivaro Base Bracket - Aluminium 
Bars 2

6 FB001 M6 x 55mm st/st A2 Hex Head 
Bolt 2

7 FW001 M6 st/st A2 std Washer 4
8 FT01 6mm Allen Key 1
9 FT02 5mm Allen Key  (short arm) 1

10 FW011 M6 Large Washer 2
11 TP030 Boss 2

ITEM NO. PART NUMBER DESCRIPTION Instructions/QTY.

1 SA055 Aluminium Bar Leg Assembly - Right 
Hand 2

2 SA056 Aluminum Bar Leg Assembly - Left 
Hand 2

3 SA066 1600mm Crosstube - Aluminium Bar 2
4 SA070 Load Stop - Aluminium Bars 4
5 PA196 1420 & 1600mm 2 Bar Box 1
6 PA192 Leg Housing Box 4
7 PA193 Load Stop Housing Box 1
8 PA194 Bar Housing Box 2
9 KK014 KammBar Kit for VA2KS 1

10 C04 Two Lock Barrels with Key KammBar 2
11 LA110 KammBar Product Label 1
12 LA038 Printed Label, Kit Box 1
13 INTD2KSK INTD2KSK 1

Manufactured by Rhino Products Ltd in the United Kingdom

"VA" 4 Leg Fitting Kit - Aluminium BarsVA2KS_b ( 1 of 4 )



PS186
PS186

PS210 PS210

SA069

FS103FS103

FS062FB001

M6 x 55mm 

M8 x 25mm 

M6 x 25mm 

TP030

Manufactured by Rhino Products Ltd in the United Kingdom

"VA" 4 Leg Fitting Kit - Aluminium BarsVA2KS_b ( 2 of 4 )

1. 2. 3.

4.



Manufactured by Rhino Products Ltd in the United Kingdom

"VA" 4 Leg Fitting Kit - Aluminium BarsVA2KS_b ( 3 of 4 )

5. 6. 7.

8. 9. 10.



Manufactured by Rhino Products Ltd in the United Kingdom

"VA" 4 Leg Fitting Kit - Aluminium BarsVA2KS_b ( 4 of 4 )

11. 12. 13.

14. 15.


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Sheet3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9

	Sheet4
	Sheet5
	Sheet6

